© 1998 OPA (Overseas Publishers Association) N.V.
Published by license under
the Gordon and Breach Science
Publishers imprint.
Printed in India.

## On Some Inequalities and Stability Results Related to the Exponential Function

CLAUDI ALSINA a,\* and ROMAN GERb

<sup>a</sup> Sec. Matemàtiques i Informàtica, Univ. Politècnica de Catalunya, Diagonal 649, 08028 Barcelona, Spain; <sup>b</sup> Institute of Mathematics, Silesian University, ul. Bankowa 14, 40-007 Katowice, Poland

(Received 12 November 1997; Revised 20 February 1998)

Some inequalities related to the exponential function are solved and the stability of the functional equations f'(x) = f(x) and (f(y)-f(x))/(y-x) = f((x+y)/2) is studied.

Keywords: Inequalities; Exponential function; Hyers-Ulam stability; Functional equation

AMS 1991 Subject Classification: 39C05

One of the most classical characterizations of the real exponential function  $f(x) = e^x$  is the fact that the exponential function is the only (modulo a multiplicative constant) nontrivial solution of the differential equation f' = f. Our aim in this note is to study the Hyers-Ulam stability of this equation, i.e. to solve for a given  $\varepsilon > 0$  the inequality

$$|f'(x) - f(x)| \le \varepsilon, \tag{1}$$

and to study also the related inequality (for all  $x \neq y$ )

$$\left| f\left(\frac{x+y}{2}\right) - \frac{f(y) - f(x)}{y - x} \right| \le \varepsilon. \tag{2}$$

<sup>\*</sup> Corresponding author. E-mail: alsina@ea.upc.es

In dealing with (1) and (2) we will solve several inequalities which have their own interest. In what follows I will stand for any real interval and  $\mathbb{R}^+$  for the set of all nonnegative real numbers. A function f will be termed Jensen concave if f satisfies the inequality  $f((x+y)/2) \ge (f(x)+f(y))/2$  and f will be said to be k-lipschitz whenever  $|f(x)-f(y)| \le k|x-y|$  for all x, y in the (convex) domain of f.

We begin the study of (1) with the following

LEMMA 1 Let  $g: I \to \mathbb{R}$  be a differentiable function. Then:

(i) the inequality  $g(x) \le g'(x)$  holds for all x in I if and only if g can be represented in the form

$$g(x) = i(x) \cdot e^x, \quad x \in I, \tag{3}$$

where  $i: I \to \mathbb{R}$  is an arbitrary nondecreasing differentiable function; (ii) the inequality  $g'(x) \le g(x)$  holds for all x in I if and only if g admits the representation

$$g(x) = d(x)e^{x}, \quad x \in I, \tag{4}$$

where  $d: I \to \mathbb{R}$  is an arbitrary nonincreasing differentiable function.

*Proof* If  $g(x) \le g'(x)$   $x \in I$ , then the function  $i: I \to \mathbb{R}$  defined by the formula  $i(x) = g(x)e^{-x}$ ,  $x \in I$ , is differentiable and satisfies

$$i'(x) = g'(x)e^{-x} - g(x)e^{-x} = (g'(x) - g(x))e^{-x} \ge 0,$$

for all  $x \in I$ .

Therefore i is nondecreasing and (4) follows. The converse is immediate. Part (ii) follows from (i) by replacing g in (i) by -g.

Now we can solve (1) completely.

Theorem 1 Given an  $\varepsilon > 0$  let  $f: I \to \mathbb{R}$  be a differentiable function. Then

$$|f'(x) - f(x)| \le \varepsilon, \quad x \in I,$$

holds for all x in I if and only if f can be represented in the form

$$f(x) = \varepsilon + e^x \ell(e^{-x}), \quad x \in I,$$
 (5)

where  $\ell$  is an arbitrary differentiable function defined on the interval  $J = \{e^{-x} \mid x \in I\}$ , nonincreasing and  $2\varepsilon$ -lipschitz.

*Proof* If (1) holds then

$$f(x) - \varepsilon \le f'(x) \le \varepsilon + f(x),$$

for all  $x \in I$ .

On one hand  $g(x) = f(x) - \varepsilon$  will satisfy  $g(x) \le g'(x)$  so by part (i) of Lemma 1 we obtain the representation

$$f(x) - \varepsilon = i(x)e^x, \quad x \in I,$$
 (6)

with *i* differentiable and nondecreasing. On the other hand  $h(x) = f(x) + \varepsilon$  will satisfy  $h'(x) \le h(x)$  and by part (ii) of Lemma 1 we obtain the representation

$$f(x) + \varepsilon = d(x)e^x, \quad x \in I,$$
 (7)

with d differentiable and nonincreasing. By (6) and (7) necessarily

$$i(x)e^{x} + \varepsilon = d(x)e^{x} - \varepsilon, \quad x \in I,$$
 (8)

and by differentiation

$$i'(x)e^{x} + i(x)e^{x} = d'(x)e^{x} + e^{x}d(x) = d'(x)e^{x} + i(x)e^{x} + 2\varepsilon, \quad x \in I.$$

This together with the nonpositivity of d' yields

$$d'(x) = \frac{i'(x)e^x - 2\varepsilon}{e^x} = i'(x) - 2\varepsilon e^{-x} \le 0, \quad x \in I,$$

i.e.

$$0 \le i'(x) \le 2\varepsilon e^{-x}, \quad x \in I.$$

If we define  $J = \{e^{-x} \mid x \in I\}$  and  $\ell : J \to \mathbb{R}$  by  $\ell(z) = i(-\ln z), z \in J$ , then  $\ell$  is differentiable and

$$\ell'(z) = -i'(-\ln z)/z \le 0, \quad z \in J.$$

Therefore  $\ell$  is nonincreasing and, moreover,  $\ell$  is  $2\varepsilon$ -lipschitz because for all  $z_1, z_2$  in  $J, z_1 \neq z_2$ , by the mean value theorem there exists  $z_3$  in  $(\min(z_1, z_2), \max(z_1, z_2))$  such that

$$|\ell(z_1) - \ell(z_2)| = |\ell'(z_3)||z_1 - z_2| = \left| \frac{-i'(-\ln z_3)}{z_3} \right| |z_1 - z_2|$$
$$= i'(-\ln z_1) \cdot e^{-\ln z_3} |z_1 - z_2| \le 2\varepsilon |z_1 - z_2|.$$

Thus we have the desired representation

$$f(x) = \varepsilon + i(x)e^x = \varepsilon + \ell(e^{-x}) \cdot e^x$$
.

It is immediate to prove the converse implication.

Remark In the study of the Hyers-Ulam stability of a functional equation one hopes that if a function " $\varepsilon$ -satisfies" an equation (e.g.  $|f'(x)-f(x)| \le \varepsilon$ ) then there must exist a constant k such that the function must be  $k\varepsilon$ -uniformly close to the general solution of the corresponding functional equation (resp.,  $|f(x)-e^x| \le k\varepsilon$ ). It is quite interesting to note, using Theorem 1, that from  $|f'(x)-f(x)| \le \varepsilon$  one can deduce the existence of a solution  $g(x) = ce^x$ ,  $x \in I$ , of the equation g' = g such that

$$|f(x) - g(x)| \le 3\varepsilon$$
 for all  $x \in I$ . (\*)

Actually, since f has to be of the form (5) with a differentiable nonincreasing and  $2\varepsilon$ -lipschitz function  $\ell: J = \inf\{e^{-z}: z \in I\} \to \mathbb{R}$ , putting  $a := \inf J \in [0, \infty)$  and  $c := \lim_{t \to a^+} \ell(t)$  we see that c must be finite. Now, for every  $x \in I$  one has

$$|f(x) - ce^x| \le \varepsilon + e^x |\ell(e^{-x}) - c| \le \varepsilon + e^x \cdot 2\varepsilon |e^{-x} - a|$$
  
=  $\varepsilon (1 + 2|1 - ae^x|)$ .

Therefore, since  $b = \infty$  implies a = 0 we get (\*) in that case whereas the finiteness of b gives  $a = e^{-b}$  and, consequently,

$$|f(x) - ce^{x}| \le \varepsilon (1 + 2|1 - e^{x-b}|) = \varepsilon (3 - 2e^{x-b})$$

for all  $x \in I$  which leads to (\*) as well.

Now we turn our considerations to (2). First we observe that for the class of differentiable functions, (2) reduces to (1) so Theorem 1 describes the general differentiable solutions of (2). Since it is well-known that the only differentiable solution of the functional equation

$$\frac{f(y) - f(x)}{y - x} = f\left(\frac{x + y}{2}\right) \quad \text{for } x \neq y,$$
(9)

is the zero function, we can conclude also that if (9) were stable in the sense of Hyers and Ulam then each differentiable solution of (2) would have to be bounded jointly with its derivative.

Let us consider now some special classes of functions (see e.g. [2,4,5]) satisfying weaker conditions than the equality (9).

LEMMA 2 For every real number  $x \neq y$  the exponential function satisfies the inequalities

$$e^{(x+y)/2} \le \frac{e^y - e^x}{y - x} \le \frac{e^x + e^y}{2}.$$
 (10)

**Proof** Using the power series expansion for the exponential function and the fact that  $2 \le n + 1 \le 2^n$ , for all positive integers n, it is immediate to show that  $e^{t/2} \le (e^t - 1)/t \le (e^t + 1)/2$ , for all t > 0, and (10) follows.

LEMMA 3 A function  $f: I \to \mathbb{R}^+$  satisfies the inequality

$$f\left(\frac{x+y}{2}\right) \le \frac{f(y) - f(x)}{v - x},\tag{11}$$

for all  $x \neq y$  in I, if and only if f can be represented in the form  $f(x) = i(x)e^x$  where  $i: I \to \mathbb{R}^+$  is an arbitrary nondecreasing function.

**Proof** If f satisfies (11) then for any x in I and h > 0 such that  $x + h \in I$  we have

$$f(x+h) \ge f(x) + hf\left(x + \frac{h}{2}\right) \ge f(x) + hf(x) = (1+h)f(x),$$

because, clearly, f has to be nondecreasing.

By an obvious induction we get

$$f(x+ih) \ge (1+h)^i f(x)$$

whenever  $x + ih \in I$  and  $i \in \mathbb{N}$ . Thus, for an arbitrarily fixed  $n \in \mathbb{N}$ , for every x < y from I, one eventually obtains

$$f(y) = f\left(x + n\frac{y - x}{n}\right) \ge \left(1 + \frac{y - x}{n}\right)^n f(x),$$

and if we let *n* tend to infinity  $f(y) \ge e^{y-x} f(x)$ , i.e., the function  $i: I \to \mathbb{R}^+$  defined by  $i(x) = f(x)e^{-x}$  is nondecreasing. Conversely, if we have the representation  $f(x) = i(x)e^x$ ,  $x \in I$ , with  $i: I \to \mathbb{R}^+$  nondecreasing then, since for x < y we have  $i(x) \le i(x + y/2) \le i(y)$ , we can deduce that

$$i(y)e^{y-x} - i\left(\frac{x+y}{2}\right)e^{y-x} \ge 0 \ge i(x) - i\left(\frac{x+y}{2}\right),$$

that is,

$$i(y)e^{y-x} - i(x) \ge i\left(\frac{x+y}{2}\right)(e^{y-x} - 1),$$

and multiplying both terms by  $e^x/(y-x)$  with the aid of Lemma 2 we have

$$\frac{f(y) - f(x)}{y - x} = \frac{i(y)e^y - i(x)e^x}{y - x} \ge i\left(\frac{x + y}{2}\right)\frac{e^y - e^x}{y - x}$$
$$\ge i\left(\frac{x + y}{2}\right)e^{(x + y)/2} = f\left(\frac{x + y}{2}\right),$$

i.e. (11) follows. Moreover, f is nonnegative because so is i.

THEOREM 2 Given an  $\varepsilon > 0$  let  $f: I \to \mathbb{R}^+$  be a function such that  $f(x) \ge \varepsilon$  for all x in I. Then f satisfies the inequality

$$f\left(\frac{x+y}{2}\right) \le \frac{f(y) - f(x)}{y - x} + \varepsilon,$$
 (12)

for all x < y in I, if and only if f can be represented in the form  $f(x) = \varepsilon + i(x)e^x$ ,  $x \in I$ , where  $i: I \to \mathbb{R}^+$  is a nondecreasing function.

*Proof* By (12) we can apply the previous lemma to the function  $f-\varepsilon$ .

LEMMA 4 If a function  $f: I \to \mathbb{R}^+$  is nondecreasing and satisfies the inequality

$$\frac{f(y) - f(x)}{y - x} \le f\left(\frac{x + y}{2}\right) \tag{13}$$

for all x < y in I, then f can be represented in the form  $f(x) = d(x)e^x$ ,  $x \in I$ , with a nonincreasing function  $d: I \to \mathbb{R}^+$ .

**Proof** If f is a nondecreasing solution of (13) then for any x in I and  $h \in (0, 1)$  such that x + h is in I we have

$$0 \le f(x+h) - f(x) \le hf\left(x + \frac{h}{2}\right) \le hf(x+h),$$

i.e.,  $f(x+h) \le f(x)/(1-h)$ . Thus if x < y in I, for sufficiently large  $n \in \mathbb{N}$  we have  $(y-x)/n \in (0,1)$  and one obtains

$$f(y) = f(x + (y - x)) = f\left(x + n\frac{y - x}{n}\right) \le f(x) / \left(1 - \frac{y - x}{n}\right)^n$$

whence by letting *n* tend to infinity  $f(y) \le f(x)e^{y-x}$ , i.e.,  $d(x) = f(x) \cdot e^{-x}$ ,  $x \in I$ , is nonincreasing.

LEMMA 5 A nondecreasing Jensen concave function  $f: I \to \mathbb{R}^+$  satisfies (13) if and only if there exists a nonincreasing function  $d: I \to \mathbb{R}^+$  such that  $I \ni x \mapsto d(x)e^x$  is concave and  $f(x) = d(x)e^x$ ,  $x \in I$ .

**Proof** Necessity follows from Lemma 4. To prove sufficiency assume that  $f(x) = d(x)e^x$ ,  $x \in I$ , is Jensen concave and nondecreasing with d nonincreasing. If x < y in I then  $d(x) = f(x)e^{-x} \ge f(y)e^{-y} = d(y)$ , i.e.,  $f(x) \ge f(y)e^{x-y}$  and therefore since all functions are positive and we can apply Lemma 2 obtaining

$$\frac{f(y) - f(x)}{y - x} \le \frac{f(y) - f(y)e^{y - x}}{y - x} = \frac{f(y)}{e^{y}} \cdot \frac{e^{y} - e^{x}}{y - x} \le \frac{f(y)}{e^{y}} \frac{e^{x} + e^{y}}{2}$$
$$= \frac{f(y)e^{x - y} + f(y)}{2} \le \frac{f(x) + f(y)}{2} \le f\left(\frac{x + y}{2}\right),$$

which states that (13) holds.

Remark Note that a monotonic (and hence measurable) Jensen concave function  $f: I \to \mathbb{R}$  has to be necessarily concave in the usual sense, i.e. to satisfy the inequality

$$f(\lambda x + (1 - \lambda)y) \ge \lambda f(x) + (1 - \lambda)f(y)$$

for all  $x, y \in I$  and all  $\lambda \in [0, 1]$  (see e.g. [3]).

THEOREM 3 Given an  $\epsilon > 0$ , a nondecreasing Jensen concave function  $f: I \to \mathbb{R}$  satisfying  $f(x) \ge -\varepsilon$  for all  $x \in I$ , is a solution of the inequality

$$\frac{f(y) - f(x)}{y - x} - \varepsilon \le f\left(\frac{x + y}{2}\right) \tag{14}$$

if, and only if,  $f(x) = d(x)e^x - \varepsilon$  where  $d: I \to \mathbb{R}^+$  is nonincreasing and  $I \ni x \mapsto d(x)e^x$  is Jensen concave.

*Proof* Apply Lemma 5 to the function  $f + \varepsilon$ .

Thus given  $\varepsilon > 0$  for the class of functions  $f: I \to \mathbb{R}$  such that  $f(x) \ge \varepsilon$  for all x in I and f is nondecreasing and Jensen concave, by combining Theorems 2 and 3 it follows a representation for the solutions of the inequality (2). To find solutions of (2) in a wider class of functions is an open problem.

## References

- [1] Aczél, J., Lectures on Functional Equations and Their Applications, Academic Press, New York, 1966.
- [2] Alsina, C. and Garcia-Roig, J.L., On some inequalities characterizing the exponential function, *Archivum Mathematicum* (*Brno*) **26**(2-3) (1990), 67-71.
- [3] Kuczma, M., An Introduction to the Theory of Functional Equations and Inequalities. Cauchy's Equation and Jensen's Inequality, Panstwowe Wydawnictwo Naukowe, Warszawa-Krakow, 1985.
- [4] Shelupsky, D.J., Problem E3127-1986, Amer. Math. Monthly V93N1 (1986), 60.
- [5] Poonen, B., Solution to Problem E3127, Amer. Math. Monthly V95N5 (1988), 457.